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Sections. There are 24 guestions in Section A, 18 questions in Section B and 18 questions in Section C.
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All the three Sections contain Multiple Choice Questions (MCQs). Some of these questions are passage based MCQs whereas
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Section — A (Language Conventions)

Note : This Section of the question paper contains 24 questions in the English Language. A student is required
to attempt all the 24 questions.

(Questions 1 - 8) : Read the following passage carefully and select the most suitable option from each list
according to the corresponding number in the passage.

1. It has long been proven that meditation can reduce
2. stress but scientific research now shows

. that it also provides other valuable benefits.

. Practising meditation can lower blood

. pressure which subsequently reduces the risk of

. heart attacks. Meditation can also improve the

. stay healthy. It also has advantages for

3
4
5
6
7. performance of your immune system, helping you to
8
9. students since it can improve the ability to

0

10. consentrait and deal with life’s problems.

1. In line 5, the word ‘subsequently’ could best be replaced with
1) also
2) then
3) similarly
4) successively

2. In line 10, the word ‘problems’ could best be replaced with
1) events
2) efforts
3) obstacles
4) occurrences

3. In line 7, the word “performance’ could best be replaced with
1) routine
2) operation
3) achievement
4) presentation

4. In line 3, the word “valuable’ could best be replaced with
1) adequate
2) generous
3) important
4) expensive

€21

. In line 1, the word ‘proven’ could best be replaced with
1) sure
2) shown
3) claimed
4) revealed
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6. In line 4, the word ‘practising’ could best be replaced with

1) Applying

2) Rehearsing

3) Trying to do

4) Regularly doing

091 P

7. Which of the following is the opposite in meaning to the words ‘helping you to’ as they are used in line

8. Which of the following is the correct spelling of the word ‘consentrait’?

7 above?

1) aiding you in

2) helping you in

3) reducing you from
4) preventing you from

1) concentrait
2) concentrate
3) consentrate
4) consentraite

(Questions 9 — 12) : Complete this passage by selecting the most suitable word/phrase from
each list to fit the corresponding gap.

Fire walking refers to the activity of walking on hot coals, rocks or cinders without burning the solesof _9__

In some cultures fire walking is part of a religious ritual, while in others it _ 10__

a confidence-building

activity. Walking across hot coals without getting burned does seem impossible to __11__‘people, but in fact
there is a scientific explanation for why fire walking is possible. __12__ fire walking taps into mysterious
human capabilities.

9. Which of these fits gap 10?

1) is considered

2) will be considered

3) had been considered

4) would have considered

10. Which of these fits gap 11?

1) afew
2) many
3) more
4) several

11. Which of these fits gap 12?

1) Therefore
2) Generally
3) Doubtfully

- 4) Presumably

12. Which of these fits gap 9?

B3o
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(Questions 13 — 16) : Complete this passage by choosing the most suitable word/phrase from
each list to fit the corresponding gap.

Ice sculpting is an artistic endeavour that uses ice as the raw __13__ for the creation of art works. Sculptures
from ice can __14__ abstract or realistic forms and are __15__ associated with short term events or festivals
__16__ their limited lifespan. Several ice festivals are held around the world each year.

13. Which of these fits gap 14?
1) take on
2) takeup
3) take off
4) take over

14. Which of these fits gap 15?
1) coldly
2) generally
3) extensively
4) infrequently

15. Which of these fits gap 16?
1) dueto
2) on behalf of
3) according to
4) for the sake of

16. Which of these fits gap 13?
1) form

2) aspect

3) material

4) equipment

(Questions 17 — 20) : Complete this passage by choosing the most suitable word/phrase from
each list to fit the corresponding gap.

Teenagers from __17__well-off families are becoming more independent of their parents. Although it is hard
to__ 18 the causes of this trend, mobile phones and shopping malls ___19___ have given them the ability
to choose their friends and activities ___20___ parental supervision.

17. Which of these fits gap 18?
1) link
2) show
3) identify
4) attribute
18. Which of these fits gap 19?
1) rather
2) perhaps
3) meanwhile
4) furthermore
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19. Which of these fits gap 20?
1) despite
2) without
3) involving

4) eliminating

20. Which of these fits gap 17?
1) mostly in the
2) mostly from the
3) many of the fully

4) many of the more

091 P

(Questions 21 — 24) : Complete this passage by choosing the most suitable word/phrase from

each list to fit the corresponding gap.

The shop where _ 21__ work had been ransacked. Robberies cause wider problems than just the loss of

property:and, _ 22 the shop been forced to close, our lives would have been badly affected. _23__ because

our boss called to reassure us that, _ 24 __, the shop would soon re-open.

21. Which of these fits gap 22?
1) if
2) has
3) had
4) have

22. Which of these fits gap 23?
1) It hadn't
2) It wasn't
3) They hadn’t
4) They weren't

23. Which of these fits gap 247
1) other than repairs
2) after some repairs
3) given the repairing

4) while it is repairing

24. Which of these fits gap 21?
1) Iand my friend
2) my friend and I
3) me and my friend
4) my friend and me
B30
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Which of these statements reflects a contrast between two fruits ?
1) This apple is as beautiful as a peach.
2) This apple is not dissimilar to a pear.
3) This apple is not as sweet as this orange.

4) This apple is grown on a tree, like a plum.

TeraR e a1d & S o6 waw a1 wfed v @ o7fer W FA T |
.26. T gea & foe wd, mew st 4 |

s AT TIRE |

1) <, St o o7 fea # wewrl € |

2) SHEHTHETAH ST |

3) ST B hIE Ueh € THE H AEAI BT R |
4) Th B I % ke o A A ok Uk TR |

Idioms are sayings that convey more than a surface or literal meaning.

Select the correct, deeper meaning for the following idiom.
‘We're all in the same boat.”

1) People who share a common interest.

2) When everyone is sitting in the same boat.

3) When everyone is facing the same problem.

4) A group of people with tickets for the same cruise.
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2) 5

3) @

4) faspen
Consider the relationships within this statement:

Bird is to worm as spider is to fly.

Which of the words below completes the following statement ?

Wiiter is to book as painter is to

1) easel
2) brush
~3) colour

4) painting

091 P
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4) ST

If the words below were organised according to speed (slowest to fastest) which would come first?
1) skip
2) plod
3) stroll

4) toddle
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Praveen needs to decide which bus to catch tomorrow in order to get to his job interview by 11:00 a.m.

Which of the following factors is least important in making a decision about this matter?
1) The frequency of bus services.
2) The number of seats on the bus.
3) The amount of time it takes for the bus journey.

4) The number of buses he will need to catch in order to arrive before 11:00 a.m.

Qmﬁ?am%%%nﬁmmaﬁaﬁ%,%mwméaﬂtﬁawwwm%—ﬁmﬁmhmaﬁ% | STEA
g T & F < o T 1 fafiree wieATedt % W Sfed § | 7} T = o e SIS 39 ST o1 £ W © foh T
1 AN o) T ST SIS T T I B W1 € | : ;

R w FrfaRed o1 O % a1 S S @

dren - fvam, Sed, SawE

T - &g, i, i

FE - g, I, SFawH

fien - gl ST, WS

A -, e, e

Suda ST 1 IR e g rfRen we o s -

Colours are believed to influence how we think, feel and behave. Studies have shown that people associate
certain colours with emotions. When choosing colours, designers consider the impact they may have on

people’s understandings and feelings.

Commonly recognised colour associations include:
Blue — trust, cold, sadness

Green — balance, calm, freshness

Purple — leadership, wisdom, intuition

Yellow — happiness, warmth, fun

Red - heat, energy, appetite

Use the above information to answer the following question :
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2) e iR dien
3) &0 N S
4) St 3R e

For a hospital interior, the colours chosen would most likely be
1) green and red.

2) blue and yellow.

3) green and purple.
4) purple and yellow.

(5%= 31 - 36) : Fr=TerfiaT ergeae = ufly aen Ry v uvi & s &ifvme

(Questions 31 — 36) : Read the following passage and answer the questions that follow :

2 T, T SR A, T TR § T S g0 U Ty T @ e off, Set sree fadeh wies @ 9 |

= 5=, == 3 0 8 TR oft O sfew F9R v ue witen wed Wl % T VAN ER % S Ie-gu @ ol |
=E 350 15 S g S SR T SaSTR S T oft, 3 3 Seaasht # 1,000 % ofF e 36 TS @ TN ge Al
= WS o wowe w e | Sfiar e 3o & ford gt diieh 3 wfte Y e aTaw T, A 39 Tee 6 9w e
=W, = = A O e 3 Tt e | srfiren e iR R Tl Sud vee &, At sead A A A S S
S TaEe d g e |

FEm = AT S e g2 Sen uged 3 W o e WA R 9| ‘R @R 7 e Tl s | 9
Ve 27 “w=r,” e gepee A s, ol gt <fiv gise o W@ wed § | R R aiEn g T
P S 8 Hes e S AR T e st vt g s v 5 e o6 ford) ot araa i R weRd 7 17 9 geRt Jfha
TEEE, TR I TR WA € | g R g R | g2 g ol T 4 & any TR el e e e | e wed
T A 521 3R, 319 I % Sret W T Iefg SISH 81 4 M bl e g Tl T |

Two friends, Bina and Amita, always walked home from school together past an exclusive restaurant, often
visited by foreign tourists.

One day, just as they were walking past the restaurant, a well-dressed woman tourist bustled out of the main
entrance. She made for a taxi waiting at the curb, and in her haste, three¥ 1,000 notes fluttered from her handbag
to the footpath beside Amita’s feet. Amita bent to pick up the notes to return them to the woman, but before she
could do that, Bina stepped on the notes, hiding them from view. Before Amita could react, the woman scrambled
into the txi which accelerated away into the traffic. ‘
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Amita quickly turned to face Bina who had deftly scooped up the money and stuffed it into the top of her
school shirt. “What are you doing?” she raged. “That money doesn’t belong to you!” “It does now,” smirked
Bina, “finders keepers. This will help my family pay some bills and we'll still have enough left over to buy
ourselves a treat!” Amita was shocked at this. “But it’s not your money. You've stolen it! I'm not having
anything to do with it or you ever again!” And with that, Amita turned on her heels and stormed away,

leaving her friend with a puzzled look on her face.

31. aﬁﬁﬁﬁw@mﬁmmwmﬁ%%@ga@aﬁ%m,m
1y ¥areht =i ofret L weRell oft |
2) wer % feru fereen wahell oft |
3)@?@%%%%%%&%%%
4) 1 % Ty Rl o e o wehdt oft |

To resolve the situation without damaging the girls’ friendship, instead of walking away, Amita could
have
1) chased the taxi.
< 2) shouted for help.
3) asked the police to talk to Bina.

4) discussed the situation with Bina.

32. wa{@z%mémmw%@m%ﬁasﬁ*ﬁﬁsﬁa R |
1) wﬁﬁmaﬁmﬁmﬁm%waﬁzﬁﬁ%@aﬁwaﬁﬁmam
2) améﬁz,aﬁmﬁaﬁmﬁwmﬁﬂwﬁﬁ%ﬁ%azwﬁ%mmﬂﬁsﬁ%@ﬂﬁﬁl
3) @dﬁm,aﬁmﬁaﬂmmﬁ@aﬂt%%ﬁﬁma@%ﬁﬁﬁaﬁmu
4) m,amwm%aﬁﬁs@mmmammmmw

Which of the possible endings for this passage shows the girls acting appropriately?
1) The next day, Bina offered to share the money with Amita.
2) Later that day, Amita visited Bina and demanded that she share the money with her.
3) An hour later, Bina changed her mind and asked Amita to help her return the money.

4) Eventually, the two friends forgot about the incident and became best friends again.
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1) g
2) gl
3) Gdeh

4) Hrerdyel

Which word best describes the girls’ relationship at the beginning?

1) kind
2) wary
3) cautious

4) amicable

34. I8 UISHEE
1) T Yl
2) = Eed
3) G gl

5) &= 549

% ®9 1 g8 Sgat aliss 9§ afvfq i S Hehdl B |

This text could best be described as

1} a puzzle.

2 =z debate.

3) 2 dilemma.
4) a2 discussion.

35 == see @, P i & a3 s 2 f T o R w2 7

1) s
2) a1
3) =T
4) Siea H9 T&H

0oL P

Which of the following, from the second paragraph, indicates that the woman may have been wealthy?

1) tourist
2) handbag
3) restaurant

4) well-dressed
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36. 1o 2 3N 3§ aftfa Frafafea § @ A-ar e R S g 7 o ?
1) 3= fe@m @ g
2) o1 ST A W W @
3) =qus & 4 sformn
4) A 1 e I3M F foaT g

Which one of the following actions, described in paragraphs 2 and 3, was inappropriate?
1) hiding them from view
2) Bina stepped on the notes
3) deftly scooped up the money
4) Amita bent to pick up the notes

(1971 37 - 42) : FraferRam srgeae =t ufew qon f2u 1o weat & s iRt

(Questions 37— 42) : Read the following passage and answer the questions that follow :

STh! TH T 1870 H, S Ui fersit bt qfiid e oh qehefien fershfi g o cwarreg shu Rl 3 7o Rt ) e 23
& foTu ITeT IwIT T & T |

uyreiel 3R feen faarl afta sftg <l & o o wugfa 9 See Rie & 332§ 9 | arel o, afet, gamm w5
3 frfmert A Remte = fommfira fomem o | 37 oot & e % wier gepmrenen gfeeamion o wgran 23 3 for ¢ R
T eI o |

¥ Reite & fergott A T, <a fafercaen, ftrg At ofit ey fom @ freiidl ) dret 3 oner ws =2 g e |
T s 71 Ve T foh !

37d: TG SATTRISHE ST e @ o Tl of el o ofter Ree Y o o h1ef) 9fis 5% | 308 = e v i e i gfg
T3, 93 guae @ Saet Wt # o Il g |

AT g 3191 T § T o Toh Juries Ieare 2 ST ARAT 2 | I7 39 Y=fiar 3euTe ST 2

el 8 9, o el A R Fvianatt st R o o1 dohe W g o foreg, Sarer foran & o ssep = 3 g o9 81
8 SHTe] ST % F5 TRomm! T €, S Jmre e o g o Sy, S f oft % Sl s e R

Way back in 1870, when the technology to print coloured pictures was developed, tobacco companies began
using it to promote their cigarettes.

Famous people, including athletes and movie stars, were pictured on cards that were included in each cigarette
packet.

For years, cigarettes were advertised in magazines, newspapers and cinemas. These advertisements used
many strategies to promote positive attitudes towards smoking. Doctors, dentists, famous people and healthy
looking teenagers having fun with friends were shown in cigarette advertisements. There wasn't a dirty
ashtray in sight!

It isn't a surprise, therefore, that addiction to cigarettes among teenagers and adults increased greatly. Not only
did addiction increase, but smoking-related deaths also increased.
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International groups claim that tobacco is a legal consumer product that kills. This makes it a perplexing product.
Recently, some countries introduced laws to force cigarette makers to place warnings against smoking on
every packet of cigarettes. The warnings show some of the consequences of smoking, such as diseased lungs

and mouth cancers, but many people continue to smoke.

37. AW HI &I LW ¢ T
1) UTSHI S gEIH &I A o foIg 79|
2) fret 3fiR ymum e ATt st fomfia s |
3) SRl sl TRA SdTa T TRt ST |
1) fogT 1 T RIS T AN RN T |

The main purpose of this article is to
1) convince readers not to smoke.
2) advertise to teenagers and smokers.
3) highlight warnings that have been introduced.

4) draw attention to certain advertising techniques.

38, Fmfefea fogmm Rl d A P-H A F FH FA F @A ?
1) ¥ SXATaH! 1 ST
2) AT THE! HT YA
3) TRy Al & fe@mn
4) uyeliel ot fhew fawi =t fe@mn

Which of the following advertising strategies is aimed at reducing smoking?
1) using visual warnings
2) using international groups
3) showing healthy looking people

4) showing athletes and movie stars

39. 34 Uey # SwamTet o7g=RE 5% wsa ‘Ueiar i ot FATR 7
1) vt
2) URel
3) Torgamen
4) i i TR § e aren

What is the meaning of the word ‘perplexing’ as used in this context in paragraph 5?
1) popular
2) puzzling
3) confronting
4) life threatening
B30 -17-
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40. Frefefad Fomt § & wF-a1 R0 3R I % Fey Hi &A1 ?
1) ofd R gEuH | geifed did
2) Tt 3R <t & a1y osT T
3) SaEfEt 3T WM Hhe 7R Hg o FE
4) forqmo ofR afenTd, TR 9 SR i

Which of the following statements shows a relationship of cause and effect?
1) addiction and smoking related deaths
2) teenagers and having fun with friends
3) warnings and diseased lungs and mouth cancers

4) advertising and magazines, newspapers and cinemas

41, el it Za Tafsrcoshl ot qpam @ fewm are fagrem € o8 g9m@ <d § f
1) fome s @ gefta ? |
2) YEUH H e Tohel 3T IHRE |
3) ETH A e T I TR § |
4) R ot o e % fore wifees 77 7

Advertisements showing doctors and dentists smoking cigarettes are designed to suggest that
1) cigarettes are related to illness.
2) smokers are successful and rich.
3) smokers are healthy and attractive.

4) cigarettes are not harmful to one’s health.

12. Rz % o o R Ty fem © foRaiid st st & e wom st foram © | a1 o e Hew W a1 R 7
1) EIH T a1 & R |
2) ARl ToReTR eEaH a2 |
3) famz @le & foe dan < wET s R |
4) EY HEHTIICHE GIRHIVT bl TGl el 3 |

Some advertisements for cigarettes show healthy looking teenagers having fun with friends. What is
the main message this presents?

1) Smoking is a dirty habit.

2) Popular teenagers smoke.

3) It costs money to buy cigarettes.

4) Smoking promotes positive attitudes.
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T~ "t (WmETeRss @) /Section — C (Quantitative Reasoning)
U9 43 | 60 / Questions 43 to 60

43. 12 Forelt %1 U Tl ¢ oot & g, 1450 frAY. i g AT R |
= & ¢ aforeRT § gt & SreR-Yosh AT WA AR

A parcel weighing 12 kg, is to be sent from New Delhi to Mumbai, a distance of 1450 km.

The Parcel Postage Rates are shown in the following table.

WRATE UTHe 9Eew & / Indian Parcel Postage Rates
3t ot / 2fmi e = /|2 et & s wedren arferar fomn & v s, /
Distance Category Rate up to 2 kg For every additional kg over 2 kg
INR INR

=115/ Local 35 5

500 T, @/ Upto 500 km 50 8

501-1000 f #1. /km 60 12

10012000 . H1. /km 70 29

. | 2000 & A1 & AR/

More than 2000 km 90 35
T He4 & @9 (a1 g 7

1) £ 8

2) %9

3) & 320

£ % 840

How much will it cost to send the parcel ?
1) 8INR
2) 95INR
3) 320INR

4) 840 INR
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44, v T TR AT TR i gl % A 39 BT A g T eawh! ) dewn Ramn R |
The graph below shows the number of books read by 39 students during the school holidays.

gleat & ghm udt 7 geash

~ Books read during the holidays
12 i

10—

BT hY e/ 81
Number of
Students

1 2 3 4 5 6
Tt 713 et <Y W&AT/ Number of books read

Al SR T 3 el & 371 B hl o1 & 3tferen frael @l | 20 3w @ 31 forae wdt | wfie 3 78 g o
$ feharsit <1 o A g fora W@ |
Ali and Ram read more books than the other students in the class. Hari read more than 1 book. Sameer
_read twice as many books as Hari.
HH-AHIT AL R 7

1) WHR A 2 forarel ut o &t 3 1 Tl well |

2) TR 3 3 ferarel uefl 3fit arelt 3 5 forame wdli |

3) ¥ 3 2 forare ugt o T\ 7 6 Forae i |

4) 707 4 Torarel vl 3R a7eft 3 6 forams uei |
Which statement is correct ?

1) Sameer read 2 books and Hari read 1 book.

2) Sameer read 3 books and Ali read 5 books.

3) Hari read 2 books and Ram read 6 books.

4) Hari read 4 books and Ali read 6 books.

3w foa Y W i 50 of refiRg | Al 9 50 e Wi 7 R | Su gfdER (T AaT) Fee
% 250" 12 3R %, 175 % 7 % oot # & eI S=ar ? | qierT 4 3k 50 TR TR |
For her parents’ 50" wedding anniversary celebration Malina decides to buy 50 balloons. Her supplier only
sells balloons in bunches of 12 forX 250, and 7 for ¥ 175. Malina buys exactly 50 balloons.
45, I8 FA Tt hima a1 At ?
What is the total price she pays ?

1) T 1,042

2) 1,100

3) ¥ 1,175

4) T 1,225
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46.

B3C

Tt 3 Tt # Tl ha GeE 8:30 S Y% B Sl @ A =R e e 11:30 =191 EeH B ST 2 |
Feqatt % o 1 4 FFE 1 =R 2 | 8 HE G H TeTs 1 8 |

e forat et 2 7
1) 41 fime

2) 42 fiFe

3) 71 fime

4) 72 fime

At Shavi’s school the first class starts at 8:30 a.m. and the fourth class ends at 11:30 a.m. There are four
minutes between classes. Each class is the same length.

How long is each class ?
1) 41 minutes
2) 42 minutes
3) 71 minutes
4) 72 minutes

3 e e S S R, T S TgEe ) AT S s 1 v e 3 o et w1 fig ) SIS C]

Fak AT

Daha sketched points on the graph to represent his height and weight and those of his sisters Farha,
Madhu and Padmal. The graph follows :

Scatterplot of Heights and Weights
Weight (Y1)
3

%
| i

<
&/ —> Height ($973)
== == 2 e 2, AR Ty A T R | HY R S5 GG o FAE R |

Db i taller than Farha, but shorter than Madhu. Madhu has the same weight as Padmal.

= g e TRl A E 7

Which of the points on the graph represents Daha?
nDA
2)B
3)C

5D

204
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48. TR forsteft Y 1w X 6.4 B X 6.5 TR Ffe 7ok 5 1% R | 217l o6 R % ford swredt forer < arae & fad 600
JeH o1 ST HEAT AT ] | 0 39 Fafts & gt H e Aew ey | 399 39 61 ferstelt & SwE 90% @
1 g |
Indian electricity prices have risen from X 6.4 to X 6.5 per unit. Arvi’s factory expected to use 600 units
in the next billing period. He installed solar panels at the start of that period. This reduced his electricity
usage by 90%. '
3reli 1 foret fererTn =gt ¢
How much did Arvi’s bill increase ?

1) %6

2).X 38
3) X 39
4) X 54

49. STEE % ITH A % 52 Tedi 1 G O R | IE R o T, 5w 1 e o st 3 e |
R 38 for & w92 e e Fera |

fefefead @ -1 gear 3T ) Hed TR WA R 7
1) o sl
2) T T
3) T T
4) TR
Bahdrak has a standard pack of 52 playing cards. He removes the king of clubs, the four of spades, and
all the aces. He then draws a card at random.
Which of the following is it most likely to be ?
1) aclub
2) aking
3) aspade
= 4) a diamond

50. B8 BHE A 400 WX g F syt foram |
o TH 3 3T % 3fX 2 3171 B o o1 I WA Y |
o 3T 3 WX & 18 S qHTG H |
o TR0 3 TR | Yt €l TaTw o |
o foFtg 3 &0 % Tt g TmTa Y |
Ulea T i TR 7
1) ™
2) I
3) frit
4) T
Six students participated in a 400-metre race.
® Ram finished after Amar and after 2 other students.
® Amar finished after Sameer.
_ * Firoz finished before Sameer.
¢ Vinod finished before Hari.
Who came fifth ?
1) Ram
2) Amar
3) Firoz
4) Vinod
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51. mﬁmwﬁlww@%ﬁnﬁnmmlmﬁﬁaﬁ?m@wﬁmﬁ% ?

Kavi fires three arrows. Each one hits a scoring ring. Which one of the following total is not possible ?

1) 17
2) 18
3) 21
1) 22

= = e ¥ v i sah) et AR fiig S weam @ S TR |
Gaira's position on her farm is shown by the dot on this diagram.

1Y TEH 1 T
hay shed

stable |,

(oo )
o /
o 4
I/, oL
0 ‘::/
(6, I8
ey
w1 o<t

=g
| dam

8

= === 3. 5400, R i e 8, a9 a8 R i s W A ?
1) %9
=
3) FaEd
5 TEFIAE
When Gajra walks in the direction N 54°W, she will be heading towards the
1) dam
2) pump
3) stable
4) hay shed
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(93 53 - 56) : ﬁnﬁﬁawﬁaaﬁuﬁqamﬁqmm%maﬁq :

(Questions 53— 56) : Read the following passage and answer the questions that follow :

w%mmﬁwm&ﬁ@w%lmmﬁmw@ﬁaéﬁmmm%ﬁmaﬁ&asﬁ@W@
o g 8 | e =it & R, erene sta < gt o A 6T T F GHA B B SR I ¥ W
T8 & STE ! foher o 20 8, aq o el safees ST < eft R | BTt et & forw weyet sroeneh aver
HTCH AT T LT G99 BT 2 |

w1 for et @ oot gt it o 3wt e & 4 s g @ gl e i o g | =t T st B @l
éﬁ%ﬁémaﬁﬁmﬁw@%ﬁwﬁsﬁ@ﬁmwﬁ%ﬁwmﬁﬁméwﬁ% | 3119 I71 wefdfq gras
TR T ) S e e o we & i s Reg s s |

Everything on this planet is made up of atoms. Each atom contains a positively charged centre, or nucleus,
which is surrounded by negatively charged electrons. For most objects, the number of positive charges is
equal to the number of negative charges and because they cancel each other out, the object ends up with no

overall electric charge. However, it is possible for objects to gain an overall negative or positive charge.

When objects made of different materials are rubbed together, electrons may jump from one object to the
other. Objects become positively charged if they lose electrons and negatively charged if they gain electrons.
You can predict which way the charges will jump by referring to a triboelectric chart such as the one

shown here.

< Human skin (7194 ca=)
, Leather (THE1)
Rabbit’s fur (TTN & ) ()
Glass (i)
Human hair (A% % &Te)
Nylon (A=)
Wool (F)
Cat’s fur (foreeft & w) ()
Silk ()
Cotton (9H)
Perspex (THUTT T AT )
Acrylic (Tshfcrr)
Polystyrene (Uleiieeaiq)
Rubber balloon (T&g =T T[seRT)
Polyester (qifetuee)
Plastic wrap (FUe+ STell WTfeesh)
Ebonite (3919T3)
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1 YETl ST SR W Y Fohart e 8 -36 s B A verel! o) gt saafe ) el | SR v s &) gt
19 | TS S 8 A1 7% ware S gt & Iou o W R, gEt d AR R R gerelt Y qen A wugie @ 3 | semwr
foT afe o weftie e e 1 B3 1 I o g & WY TTET ST R o) I gergiE @ 3 35 9 wynl w9 @
FAIeEE FERIE 8 STt 37 wHted FHorere FaiE guh 1 R T o et ¥ o s it wter @ wEEtE
6 E | (T dred 7% § 6 o1t 3 S e oh fore st 7 arfren o) we e wre e aR 1) Al st waiy
= 5 (T H) 5 A1 Hid ) U1 § q GO H B! R 3, SR- @mmmﬁmﬁa@ms@a@am
&1 7% S |

This Bist of common materials is arranged in order of how likely they are to lose electrons. In general, when
two materials are rubbed together, the material that is higher on the list will lose electrons to the materials
listed Below it. For example, if a perspex rod is rubbed with a piece of wool, the wool will lose electrons to the
pesspex so the wool will end up with an overall positive charge and the perspex will end up negatively
chasged. The further apart the materials are on the list, the more easily the electrons are transferred between
thems (which means that you don't have to rub them together very long to get them to charge up). If you were
10 =8 sass with rabbit’s fur, far fewer electrons will move to the glass than if you were to rub the rabbit fur

on sammething like ebonite.

55 = =R A F |, R o= A A @ udw & favg TeR W, W 9N 9% TR €9 A 91 @ ?
1) =3
I TR
3 TN
£ =0T IR

'-hh of these four materials, when rubbed against each of the other three, will become positively
Semsed each time ?

i) pesspex

I polvester

3 polystyrene

4 plasitic wrap

58 S=en st A 4 oru wegel oo sTRw R 7 _
WELEs of the following objects has an overall negative charge ?

k3 B (o D

DA
LB
JC
HD
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AR AR

55, ST HUH Hi F a1 T fire % TTe1 TR ) 9% 8 ST SR ST S |

1) T W

2) Ushferh

3) yHteg

4) foreeft =1 ™

Cotton will gain most electrons when it is rubbed for one minute against

1) silk
2) acrylic
3) perspex

4) cat'’s fur

o et o fordia seiferesh STaieT 21T € & Th—qu ohl 31 Rererelt & aen 5 aegedt g e saw a1 o -
TE ! T Eoherd! © | ST g qe 7= AT a%g Th-g@ <l at faw st | = faan e s == weRkia
? T v oo - & faehe A1 SRR a5 F A5 IR W AeF R 7 ) 1 gl 2 -

Objects that have opposite electric charges move towards each other while objects that have the same electric

charge push each other away.

A charged object and uncharged object will move toward each other.

The diagrams below show what happens when different balloons are hung on strings near each other or near

a charged object...

d b e
®d &

56. TEERI W HYU! AN HH-A § ?

What are the overall charges on the balloons?

?i:,/ A B C
1) 1 HHhNTcHS [ Positive HHWIHS  Positive I3 79 981/ No charge
2) 2 I3 AN T/ No charge | =i$ 31189 &/ No charge | SRUH / Negative
3) 3. 0T / Negative HHRIcHS [Positive %13 399 78/ No charge
4) 4 RUTIcH / Negative %13 A & /No charge HHWIcHS [Positive
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(%7 57 - 60) : FrAferRam orgede = ufe e 2y o weat & s ARt :

(Questions 57- 60) : Read the following passage and answer the questions that follow :

T HTEER SR ATl e A1 HT SATfeesh Sef TReE armii @ 5 € € | ofe ed: @ e % 9 § | ovaest/srer o
A F51 i gt 7 TR AR B § Rl 3 & TR et foheol St el € | S/ arfrrdt S ot R Y
T H S 1 A1 A1 B § o ST et 3 s v ofet B & o ¥ | suh 3 @) R wret et ¥ # | et v
o HES g T A o) T & e 2 # wern e o T g ofet oht s w7 e

T 1 SEr S8t 1 0wl % Y-y FE 31 U A fRET ST R | DI Il Y o e, g o gt
%! A e % oY A o, genesll, T YR ) gEie # SRt i w1 e R s 2 | s o
STafta &6 & | 3 J H § I arelt b BT Y et O fig W kTRa o € | e foig e (Rig) weemar 2
St v = = 1 a1 S R 9% 3a1 € STt ot ] Ao Wiy o o 3a & wei B 2|

Lenses are objects made of transparent materials such as glass or clear plastic that has curved surfaces. There are
two main kinds of lenses. Diverging lenses are thicker at their edges than in their centres and they make light
rays passing through them spread out. Converging lenses are thicker in the middle than at their edges and were
the earliest kind of lens made. The earliest examples of these date back two thousand years. They have been used in
spectacles to help people with poor vision see better since at least the tenth century.

These days, as well as being used in spectacles, converging lenses are used in many other devices. Magnifying
glasses, microscopes and some types of telescopes use converging lenses to make small things appear much
larger or to make distant objects appear much closer. Converging lenses magnify by bending the rays of light
that pass through them to meet at a point. This point is called the focus. The thicker that a converging lens is

in its centre, the more it magnifies and the closer the focus is to the lens.

@/ Lens

Tyt foRvr Ue ey

Light rays enter lens

Focus

HIT =1 AFAETET IS S B T Ut ST o o) s, qe g o o & R, gt ofy o ward
o U= BK @ | ISTEN0 o feig A 2 3. sfieet A i & 3a W 6 F. ). oo fwar & @) o AEEET ae
321 ("R “3x” foran s 2)

Tl O, Th 10x 8 UF g I 10 71 @1 @1 | &8 10 71 =t +f fam |

The magnifying power of a single converging lens such as that used in a camera or magnifying glass is equal to
the length of the enlarged image divided by the length of the original object. For example, if a 2 cm long beetle
appears to be 6 cm long when viewed through a magnifying glass, the glass’ magnifying power is 3 (written as

“3x”). Similarly, a 10x lens would make an object look 10 times longer. It will also look 10 times wider.
B30 o7
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2 fear man @ I% veRkia it @ T ArE 3AiE, TeRTel HTEshIEhIT 37 Teh Soiae HTSshIEhId o1 SUART L o i
T3l o gTElt & § @1 ST T R |
The diagram below shows the sizes of objects that can be observed effectively using the human eye, a light

microscope and an electron microscope.

*
i 1 meter —
'q, 100 mm —]
&5 15
£ 10 mm —
E e <idt /ant
x
£ ' 1mm —
| D iortt T 3 01/ grain of salt
A4 (@) .
b E S 1 100 um — _
B, o AT %3 / human hair
“ = @ 10um — - FifyEmsii ) ageen / majority of cells
=2 E g 1M — b e / bacteria
T &% 0
b4 = 100 nm —
B S - 3%9q / viruses
2 B 10nm —
Q
w
' Thin — = TehmHeaey, /| macromolecules
i 0.1 nm — I— W/ atoms
: FEGAT & IR A
1pm= —_—mm :
7000 i s w2 /
1AM E e mm indicates range of
1000,000 sizes for object

57. IR TR TR F AT § 3@ T EEd S g 2 et s @ e 3@ ® @ 3w AEmeny
Y wfd fradi g ?

If the smallest of the viruses appears to have a diameter of 2 mm when observed through an electron
microscope, the microscope’s magnification power is

1) 20x

2) 200x

3) 20 000x

4) 200 000x

B3o =28
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58. famfoifen & & F-a1 s TRrar o 1 urgs gy Ramrd 7

Which of the following diagrams show side views of converging lenses ?

()}

1) A3RC
2) B3lRD
3) B3fRC
4) B,C3fRD

1) AandC
2) Band D
3) BandC
4) B,CandD

59. aaqss:(amsfasm%mmﬁ%@ma’r T B H et 1 & 25 Frft2 wefa & @ | 39 aeelt
ifes &= e e ?
1) 1 fdfi2
2) 5 fidfi2
3) 20 fmfi2
4) 125 fpfi2

When seen through a 5x magnifying glass, a small leaf appears to have an area of 25 mm2 What is the
actual area of the leaf ?

1) 1 mm?

2) 5 mm?

3) 20 mm?

4) 125 mm?
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e it e e ot < it 35 0 o YR e e e 3 o s ot ) et B e e ) ol 2 R

The human eye contains a lens that allows light rays entering the pupil to be focused on the retina which is
located at the back of the eye.
3291/ Retina

werTer femtut/
Light rays

\wwmor e w g 2/

/Light Focuses on Retina

e Vel wigd et & frl gg @ < o o AT wee TeRdt | o o) e see ST W weRT fored forw s shfsa sl
2 -7e f R gen s wE S A sar 2 |

The lens is surrounded by muscles that can change the thickness of the lens. One of the diagrams below
correctly shows the way light rays are focused when the thickness of the lens is changed.

60. - TrRfa @l B ?

Which is the correct diagram?

2) = % “ ‘ §\§ =
3) % 2}
4) _Z@
G ATHR FHAT/
Keys to Lens shapes

Otmmﬁu/

Thinner lens
TR /
Thicker lens
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T HTH & foT0 WTE/SPACE FOR ROUGH WORK
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